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Lesson 7
Sixteenth Note Pattern
(1-&A)

In lesson 6 you leamned that sixteenth notes get 1/4 of a beat, that they are usually tied together in groups of four, :
and that they are counted 1 E & A.

1 E & A
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Like a sixteenth note, a sixteenth note rest also takes up 1/4 of a beat. We will now create a new thythm by
replacing the note named "E" with a sixteenth note rest. This rhythm can be written several ways.

If the sixteenth note 1est is written, the three remaining notes are connected by a double bar at the top of their
stems. The "E" will be counted, but not played. ’
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This rhythm is more commonly written in pattern form, as shown below. When written as a pattern, an eighth
note is tied to two sixteenth notes. The double bar is used only to connect the sixteenth notes. The "E" will

be counted, but not played.

1 (B) & A
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Now try the following exercise to get a feel for this new rhythm.
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- Lesson 7 Exercises
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Lesson 8

- Sixteenth Note Pattern
(1E&--)

In lesson 7 we created a thythm by removing the note called "E" from a block of four sixteenth notes. In this
lesson you will learn a new rhythm by removing the note called "A". Recall that a group of four sixteenth notes
gets one beat, and is counted 1E&A.

The rhythm that is created when the "A" is removed can be written several ways. When the "A" is replaced by
a sixteenth note rest, the remaining notes are connected by a double bar at the top of their stems. The "A" will
be counted, but not played.

This thythm is more commonly written in pattern form, as shown below. When written as a pattern, two sixteenth
notes are tied to an eighth note. The double bar is used only to connect the sixteenth notes. The "A" will be
counted, but not played. '

1 E & (A
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Now try the following exercise to get a feel for this new rhythm.
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Lesson 9

Sixteenth Note Pattern
(1E--A)

In lesson 7 we created a thythm by removing the note called "E" from a block of four sixteenth notes. In lesson
8 we removed the note called "A". In this lesson you will learn a new rhythm by removing the note called "&".
Recall that a group of four sixteenth notes gets one beat, and is counted 1E&A.

1 E & A

e
R e —

The rhythm that is created when the "&" is removed can be written several ways. When the "&" is replaced by

a sixteenth note rest, the remaining notes are connected by a double bar at the top of their stems. The "&" will
be counted, but not played.

1 E (& A
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This rhythm is more commonly written in pattern form, as shown below, When written as a pattern, a sixteenth
note is tied to an eighth note, which is tied to another sixteenth note. The "&" will be counted, but not played.

E 1 E (& A
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E Now try the following exercise to get 2 feel for this new rhythm.
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